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5 KJ1acC

YrnpouleHure BbIpaykeH



YcTHBIN cUeT

100 - 55 920-71 100 - 54
-2 -3 23

18 +23 19

15 :16 +22

? ? ?

Yragau kopesb y:89 =1068 : 89;
5a=175;
2¢c + 2¢c =44;

45 -y =45.
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[lomoxxem BunnHu [lyxy
1) 154.X=2002 2) (X-34)+175=597

X=13 X=456
3) 656:X=16 4) 6y-2y+25=65
X=41



PeOsiTa,
crracuoo
3a
NMOoMOIlb!!!







[lycTs X KT — rpys B
MalllMHe, TOTJa B
npuierne — 7X.

X + 7X =312;

38X = 312;

X =312 : 8;

X=39(Kr) — B MallIuHe;

39 - 7=273(Kr) - B
IpuLere.

[lycTh y KM mipoexasn 3a 2
IeHb, TOTJA 3a MEePBBIU —

3Y-

3y +Y = 536;
4y = 536;
Y =536:4;

Y =134 (KkM)- 2 IeHb;
134 - 3 = 402(KM)- 1 IeHb.












Crracu60 3a ypox!




